Contextual Reference

	Pronoun Reference

	BagaimanamengidentifikasiPertanyaan
	The Pronoun ... in line ... refers to which of the following?

What does (it/he/she/they/etc) refer to?

	Dimanakitabisamenemukanjawabannya
	Kita mencaripronoun referencepadabaris yang disebutkan. Pronounitubiasanya

merujukpada kata benda yang adadidepannya.

	Bagaimanamenjawabpertanyaanpronoun reference
	Temukanbarisdimanapronountersebut.

Lihat kata benda yang munculsebelumpronoun.

Baca kalimat yang terdapatpronoun referenceitudenganseksama.

Eliminasijawaban yang sudahpastisalahdanpilihjawaban yang paling tepatdiantarajawaban yang tersisa. 


List darimacam-macam kata ganti

	Personal Pronoun
	Relative Pronoun (conjunctions)
	Demonstrative Pronoun
	*Adjectives

	I, you, we, they, he ,she, it

Me, you, us, them, him, her, it

My, your, our, their, his, her, its

Myself, yourself, themselves, himself, herself, itself
	Who, whom, whose, which, when, where, that
	Singular: this, that

Plural: these, those
	Each, every, little, few, some, any, all, most, many, much, more

Another, the other, others, few others, all others, most others, some others etc

*these adjectives may also function as pronouns 


ContohSoal
Sample paragraph

A computer like any other machine is used because it does certain jobs better and more efficiently than humans. It can receive more information and process it faster than any human. The speed at which a computer works can replace weeks or even months of pencil and paper work. Therefore, computers are used when the time saved offset their cost which is one of the many reasons they are used so much in business, industry and research.

‘It does certain job’ →  It refers to a computer

‘It can receive more information’ → It refers to a computer 

‘and process it’ → It refers to information

‘the time saved offset their cost’ → Their refers to computers

‘Which is one of the many reason’ → Whichrefers to the time saved offsets their cost

‘they are used so much in business’ → They refers to computers

Exercise 1
Find out What the words in bold refer to.


Computers are electronic machines that process information. They are capable of communicating with the user, of doing different kinds of arithmetic operations and of making three kinds of decisions. However, they are incapable of thinking. They accept data and instructions as input, and after processing it they output results.


When talking about computers, both hardware and software need to be considered. The former refers to the actual machinery, whereas the latter refers to the programs which control and coordinate the activities of the hardware while processing the data.


The first computer was built in 1930 but since then computer technology has evolved a great deal. There are three different kinds of computers in use today: the mainframe, the minicomputer and the microcomputer. These all have one thing in common: they operate quickly and accurately in solving problems.

Exercise 2

	1
	For Century, Sky watcher have reported seeing mysterious flashes of light on the

	
	surface of the moon. Modern astronomers have observed the same phenomenon, but no

	
	one has been able to satisfactorily explain how and why the moon sporadically sparks.

	
	However, researchers now believe they have found the cause.

	5
	Researchers have examined the chemical content of Moon retrieved by astronauts

	
	during the Apollo missions have found that they contain volatile gases  such as helium,

	
	Hydrogen and argon. The researchers suggest that stray electrons, freed when the rock

	
	crack, may ignite these gases. Indeed, lunar rock samples, when fractured in the lab,

	
	throw off sparks.

	10
	What causes these rocks to crack on the lunar surface? The flashes are most often

	
	seen at the borders between sunlight and shade on the moon, where the surface is being

	
	either intensely heated or cooled. A sudden change in temperature may cause thermal

	
	cracking. Another possibility is that meteors may strike the rocks and cause them to crack.

	
	Finally, Lunar rocks may be fractured by seismic events- in other words by tiny 

	15
	moonquakes.


1. What does one in line 3 refer to?

a. Sky watcher

b. Astronomer

c. Astronaut

d. Lights

2. In line 4 , the word ‘they’ refers to

a. Helium, hydrogen and agron

b. Researchers
c. Moon

d. Astronomer

3. ‘They’ in line 6 refers 

a. Helium, hydrogen, and argon

b. Researcher

c. Rocks

d. Astronaut 

4. What does “finally” in line 14 refer to?

a. Causes the rock to crack

b. Meteor

c. Sunlight

d. Flashes 

Exercise 3

Animal Congregation

	1
	          Many types of animals combine the advantages of family association with those

	
	conferred by membership in still larger groups. Bees congregate in hives; some fish   

	
	move in school; ant gather in mounds; wolves live in packs; deer associated in herds

	
	The main advantage of membership in mass community is the safety that it provides. 

	5
	A large group of prey may be easier for a predator to find at any given point than is 

	
	a small one, and a predator may think twice before taking on such a group; if a 

	
	predator does decide to challenge a large group, it may merely encounter a confusing

	
	mass of moving bodies and possibly may not succeed in its  primary goal.

	
	


1.  The word “those” in line 1 refers to 

a) family

b) animals

c) advantages

d) groups

2. the word “it” in line 4 refers to

a) Advantage

b) membership

c) community

d) safety
3. The word “one”, in the passage refers to

a) group

b) prey

c) predator

d) point

4. the word “it” in line 7 refers to

a) predator

b) group

c) mass

d) goal

